Test 1: Part 3

Part 3: Conversations

Directions: You will hear some conversations between two people. You will be asked to answer three questions
about what the speakers say in each conversation. Select the best response to each question and mark the
letter (A), (B), (C), or (D) on your answer sheet. The conversations will not be printed in your test book and
will be spoken only one time.

41.

42.

43.

Where are the speakers?
(A) at a barber shop

(B) at a coffee shop

(C) at a supermarket

(D) at a circus

What does the woman suggest to the man?

(A) to purchase an additional cheese cake because it's on promotion today
(B) to change the croissant to the cheese cake because it is cheaper

(C) to order less items because he can't finish all of them

(D) to wait for 3 more minutes until the cake is ready

What can be inferred when the man says “l don’t think | can finish all that, but thanks anyway?”
(A) The man will change the Number 1 set to the Number 2 set.

(B) The man won’t purchase the extra cheese cake.

(C) The man will purchase more cheese cakes.

(D) The man will cancel the order because he isn’t hungry any more.

44. Why will the woman need to go abroad next week?

45.

46.
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(A) for an audition
(B) for a vacation
(C) for an international conference
(D) for an online meeting

What facility does the woman need from the hotel to join the online meeting?
(A) a swimming pool

(B) a conference room

(C) Internet connection

(D) valet parking

Will the woman attend the company’s sales meeting next week?
(A) Yes, she will attend the meeting via video conferencing.

(B) Yes, she will cancel the trip and attend the meeting.

(C) No, she will focus on the international conference only.

(D) No, she won’'t need to attend because she got fired.
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